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a—FK Ao ik | PER (kg) 24 (M) = i ol PE (BAL)
Y3015 |7 X B 6 486 32 22 22| BH 203K
32600 &% 4 632 38 38 22| BA 213K
31700 ¥y LY 100 7,992 972 864 432 | BN 1047 — &
131800 [1ZHNAE 25 8, 251 86 65 38| BN 125
31900 ¥ 4 2,160 540 540 540 | BN l4kg
| 34200 |FFK 34 11, 448 378 378 281 | BA 134kg
34500 |B—< 4 945 270 270 270 | B A l4kg
| 35220 | XM ERHE 9 4, 601 540 540 389 | BN 9kg
35300 E°— X 5, 044 1,080 1,080 486 | BN 6kg
135303 A F v TEIAED 18 2, 462 216 108 108 | B “18kg
Y3115 EZALED 1 151 216 216 216 | B lkg
Y3033 | ZHIAL 116 3, 564 54 22 111 BHN 116kg
36200 HEHE 100 5, 400 54 54 54 | BN 1 100kg
36260 1 Lp7=An 500 41, 472 1,080 648 648 | B 504 — &
33400 | L& & 15 1,328 54 54 36 | BA 301#
33410 #=—LH 2R 4 1,296 65 65 65| BN 204%
33200 HYTTU— 1 108 54 54 54 | BN 2{&
33300 [ FTmy=al— 20 5,724 356 356 108 | &N 20kg
33300 | 7wy =) — 20 3, 780 76 76 16 | BP9 661
133303 (AT v Tuval 5 2,149 97 97 86 | B/ 234%
36340 LN REEE 65 11,491 216 216 65| B 65kg
41390 1FAMA 26 3, 488 443 216 216 | BW 13% v k
41806 | = A A 120 44, 280 2,160 2, 160 1,404 | BN 2447 — A
41806 |- A A 294 73, 548 972 540 216 | B 147% v b
41340 | BATz A 4 972 86 86 76 | B 1218
46108 | MM DNE 133 147, 085 389 324 259 | BN 442/ 7
71011 | A7 L—% 20, 272 60 59 59 | B 3404
71060 A kv 7, 290 43 43 38 | BN 1754
53456 =il 15 1, 620 108 108 108 | B 15kg
' Y5025 IF H 3H 4 432 108 108 108 | B 4kg
Y5009 {4 8 KAR 10 2,419 281 216 216 | BA 10kg
30300 A% L 100 12, 528 1, 404 1,188 1, 188 [fEA 1047 — 2
31100 B3 165 3, 564 324 324 324 |BERE 117r—=
31200 ' [LEE 4 432 22 22 22 |BIRE 204%
33810 FHiER 4 864 43 43 43 BB S 2048
Y3072 NE—Y—7 3 972 32 32 32 |KEA 304%
Y5005 £ KEAN 5 1, 566 1, 566 1, 566 1,566 | K4y 1r—2=
31800 1EHNAHE 8 2, 592 86 86 43 | BB 404%
31950 Hia¥ 10 2, 160 1,080 1,080 1,080 | EEIRE 24— R
31950 Hia¥ M 12 3,132 864 756 756 | B IR 4r—=x
31900 RE L 10 6, 588 378 324 324 | LR 203 (500g)




YA e RR et ®A
a—F HE Sk | BERR (kg) &% (M) =il i ol E Hh (BAL)
32800 {25 3 2,430 81 81 81 | E i 1303
34400 k= k 2L 44 6, 588 864 540 540 | BIRE 117 —2R
134460 I =Lk E & M 5 3,110 130 130 130 | IR & 248y 7
34100 | &R L 20 6, 696 2,160 1,512 1,512 | EIRE 44— R
34200 | R/ 50 7, 668 216 140 130| =2 —3— 50kg
AN
34571 (X7 U B (R) 1 1,037 130 130 130 | & [E . 8fH
34572 ST Y7 (H) 1 864 108 108 108 | & [ 81E
37200 | L & H A 2L 8 2,916 1,512 1,512 1,404 | E 24— R
32900 LY — 21 324 162 162 162 | &M L2k
| 33600 %k 1 270 54 54 54 | & ¥ 54%
1 38100 LWt 12 7, 020 86 43 43 |'E I 1208 7
31310 | A T3 8 1, 296 43 43 22| BRE 4048
31500 |/MAKE 16 4, 968 65 65 54 | BB 804%
32500 Ao iE 2 1, 080 65 59 32| EIRE 12031
37560 |BBIT 1 972 216 108 108 | X% A
40100 A A 160 4,720 648 270 108 | E 1% 1647 — A
41320 |\3# L 20 1, 296 648 648 648 | EAS 24— R
41346 23— LA 2L 20 1, 080 648 648 432 |BEA 24— R
142000 W AT 20 3, 996 2,160 2,160 1,836 | & 24—
49100 | NFF 120 15, 120 1,620 1,620 1,29 |7 4 U Y 10—
49200 (/XA T v T 8 324 54 54 54|74 B 6f
Y5006 | EIF (&) 100 23, 587 2,516 2,246 2,246 | EIRE 10— R
Y5006 | EBIR (&44) 70 15, 811 161 161 147 |BIRE 1003w &
GEi 2,676 569, 461
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